2 WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date

BP9710 03.01 rh900gd T 13-APR-92

4B3.9, 6A3.4, 6B5.9, B GAS INTERNATIONAL CM556, B4.5, B4.5 CM2350 B129B, B4.5 CM2350 B146C, B4.5
CM2350 B147B, B4.5 RGT, B4.5S, B5.9 G, B5.9 GAS PLUS CM556, B5.9 LPG, B5.9 LPG PLUS CM556, B6.7 CM2350
B121B, B6.7 CM2350 B135B, B6.7 CM2350 B136C, B6.7 CM2350 B148B, B6.7 G CMOH6.0 B125, B6.7N CM2380
B150B, B6.7S, F3.8 CM2350 F120B, F3.8 CM2350 F128C, F3.8 CM2350 F132B, F3.8 F102, G3.9, G5.9, G5.9

CM558, ISB (CHRYSLER), ISB CM2150, ISB CM2150 E, ISB CM550, ISB CM850, ISB/ISD4.5 CM2150

B119, ISB/ISD4.5 CM2150 SN, ISB/ISD6.7 CM2150 B120, ISB/ISD6.7 CM2150 SN, ISB/ISD6.7 CM2880 B126, ISB3.9
CM2220 B107, ISB4.5 CM2150, ISB5.9G CM2180, ISB6.7 2010 DCX PICKUP, 1ISB6.7 2013 DCX CHASSIS

CAB, I1ISB6.7 CM2150 SQ, ISB6.7 CM2250, ISB6.7 CM2350 B101, ISB6.7 CM2350 B103, ISB6.7 CM2350 B142, ISB6.7
CM2670 B153B, 1SB6.7 G CM2180 B118, ISBE CM2150, ISBE CM800, ISBE2/ISBE3 CM850, ISBE4 CM850, ISD4.5
CM2150, ISD6.7 CM2880 D101, ISF2.8 CM2220, ISF2.8 CM2220 AN, ISF2.8 CM2220 EC, ISF2.8 CM2220

ECF2, ISF2.8 CM2220 F101, ISF2.8 CM2220 F117, ISF2.8 CM2220 F122, ISF2.8 CM2220 F126, ISF2.8 CM2220
F129, ISF2.8 CM2220 IAN, ISF3.8 CM2220, ISF3.8 CM2220 AN, ISF3.8 CM2220 F103, ISF3.8 CM2220 F110, ISF3.8
CM2220 F116, ISF3.8 CM2220 F134B, ISF3.8 CM2220 IAN, ISF3.8 CM2350 F109, ISF4.5 CM2220 F123, ISG11
CM2880 G106, ISG11 CM2880 G108, ISG12 CM2880 G107, ISG12 CM2880 G109, ISG12 G CMOH6.0 G111, QSB3.9
30 CM550, QSB3.9 CM2880 B138, QSB4.5 30 CM550, QSB4.5 CM2150 B108, QSB4.5 CM2250 B131, QSB4.5
CM2250 EC, QSB4.5 CM2350 B106, QSB4.5 CM2350 B122

Engines

We use cookies on this site to enhance your experience.

By clicking any link on this page, you give consent for us to set cookies. For more information, see our Privacy and Legal page.


https://qsservices.cummins.com/qshd/feedback.php?productid=1
https://www.cummins.com/privacy-and-legal#cookies

SMALL | MEDIUM | LARGE

BP9710 Rocker Lever B Series Rocker Lever...(More)
Cylinder: 6
1 3910814 Rocker Lever Support 6
3911423 Rocker Lever Support 1
3910813 Rocker Lever Shaft 1
2 3907555 Expansion Plug 2
3 3910811 Rocker | ever A Intake

We use cookies on this site to enhance your experience.

By clicking any link on this page, you give consent for us to set cookies. For more information, see our Privacy and Legal page.


javascript:swap_img('rh900gd','/rtgraphics/english/parts/rh/9/rh900gd_sm.png');
javascript:swap_img('rh900gd','/rtgraphics/english/parts/rh/9/rh900gd_md.png');
javascript:swap_img('rh900gd','/rtgraphics/english/parts/rh/9/rh900gd_lg.png');
https://www.cummins.com/privacy-and-legal#cookies

5 203131 Heavy Hexagon Nut 1 3/8 - 24 UNF
6 3910810 Rocker Lever 6 Exhaust
3910808 Rocker Lever 1
4 3900706 Slotted Set Screw 1 3/8-24x11/2inch
5 203131 Heavy Hexagon Nut 1 3/8 - 24 UNF
7 3900245 Plain Washer 12 M19
8 3900242 Retaining Ring 12
9 3901221 Hexagon Head Cap Screw 6 M8 X 1.25 X 75
10 3920781 Hexagon Flange Head Cap Screw 6
1 3904679 Push Rod 12

We use cookies on this site to enhance your experience.

By clicking any link on this page, you give consent for us to set cookies. For more information, see our Privacy and Legal page.


https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html
https://www.cummins.com/privacy-and-legal#cookies

